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Seat NO.! o

L7 & A6 SARDAR PATEL UNIVERSITY
FYBBA (ITM) (I Sem.) Examination
Wednesday, 23™ November, 2016
10.60 am - 12.00 pm
UMO1CBBI07 - Business Mathematics
Nofe: Figures fo the right indicate marks

No. of printed pages: 02

Q.1 A, If Us=setof letters of the word WHEA T
A= set of letters of the word " WHA T’
B= set of letters of the word ‘ HE A T°
C=set of letters of the word ‘E A T
Then find (i) (ANB)X(BNC)
(i) (ANBNCY
(i) ANB-C)

Total Marks: 60

B. LetA={1,2,57,9},B=1{23,6,8, 10} and C={3,4,5,8, 11, 12}, then
() verify AU (BN C)=(AUB)N (A UC)G) find AN (B-C)and (A-B).

C. (i) Express the following inequalities in a modulus form: -7< x < 8
(1i) Express 0.0272727............ in a quotient form.

OR

Q.1 A. State the De Morgan’s laws for A and B and verify them b—y taking
U={x/0<x<1l,xeN},A={1,3,4,6,8} and B={2,3, 6,7, 9.

B. (i) Express the following in the form of an interval: | x — 5} <7.
(it} Find power set of A={ a, b, ¢ }.

C. Define the following terms:

(1) Intersection of two sets (i) Symmetric difference set  (iii) Disjoint set

(iv} Power set {(v) Null set.
Q2 A. b+c a a
Provethat| b c¢+a b = dabc
c c a+b

B ira=2 3] , B=[1‘ 2] and c=[? ";] then finda 2x2 matrix X such

S VR 2 4
that2 (X + A) =3 [X A+ B)] +C

1

C. Solve the following equations using inverse of a matrix:
2x+y=4
5x+3y=9.

‘ OR

- Q.2 A, Solve the following equations by Cramer’s rule:

2x- D +3(y+1)=15
Ay +3)-2(x—2)=6
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4 1 3 2 -1 0 '
If A=|2 0 5} and B = [O 4 3} then verify that
1 3 0O 2 1 5
(1) (AB) =B" A’

(ii) (A+B) = A4B". -

Define Transpose of a matrix.

1 2 2
Show that A%[ 2 1 —2] is an orthogonal matrix.
-2 2 -1

Find the equation of a line passing through the intersection of the lines
x—y+2=0and 2x + 3y — 6 = 0 and paraliel to x— 2y + 5 = 0.

For what values of k , the lines 3x-(3k+2)y+2=0 and 2x-(k-3)y-1=0 are

(i) parallel ? (b) perpendicular ?

Find the equation of a line which passes through the points (1,-2) & makes the -
intercepts on the axes equal in magnitude & opposite in signs.

OR

Obtain the equation of a line passing through the points (—i, 2) and (5, -3). Find its
slope and intercepts on the axes. '

() If A(-3,2) ,B (1,-2) and C (5,6) are vertices of AABC, then find the area of AABC.

(ii) Find 2, if the distance between A(-3,-2) and B(a,1) is 3v10.
Show the equation of a line making intercepts a and b on the axes.

Evaluate the following:

o x34+6x2+11x +6
Vom e 10%

205 +3(2)* =5
X

(i) lim
x—0

(i) lim (Vaz+n+1- Jn?+1)

State working rules for limit.
OR

Evaluate the following:
. 1- X_B - aMB
® o1 xE - a?
o 2x*+3x+1
() o1 3% + Ax + 1

oo A x—3—Ax+1
(iii) lim
T2 X — 2

f(x +2) — f(x — 2
JFE(x) = 2 find lim G+ 2) - fx—2)

X—0 X

Mz=x=X
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